


145 ÷ 5 =  

4

How many 5s are there in 45?

29

How many are left over?
How many 5s are there in 14?

How many are left over?

How many 5s are there in 1?

20
1

15 5

9
4



670 ÷ 5 =  

7

How many 5s are there in 20?

134

How many are left over?
How many 5s are there in 17?

How many are left over?
How many 5s are there in 6?

31
1

65 0

4
2



362 ÷ 2 =  

6

How many 2s are there in 2?

181

How many are left over?
How many 2s are there in 16?

How many are left over?
How many 2s are there in 3?

81
1

32 2

1



608 ÷ 2 =  

0

How many 2s are there in 9?

Is there a remainder?

304r1

How many are left over?
How many 2s are there in 0?

How many are left over?
How many 2s are there in 6?

03

62 9

4r1



266 ÷ 3 =  

6

How many 3s are there in 26?

Is there a remainder?

2

88r2

How many are left over?

How many 3s are there in 26?
How many are left over?

How many 3s are there in 2?

80

23 6

8r2
2




